solve each equation by using the quadratic formula 



quadratic formula

If ax2 + bx + c = 0, where a, b, and c are constants and a ≠ 0, then

x = -b ± √b2 – 4ac

    2a

-6z^2+7z+3=0 


a = -6, b = 7, c = 3

x = -7 ± √72 – 4(-6)(3)

     2(-6)

x = -7 ± √121
          -12


x = -7 ± 11
        -12

x = -18  or 3    and   -4 or -1  
      -12      2            12    12


-9x^2+6x-1=0 

a = -9, b = 6, c = -1

x = -6 ± √62 – 4(-9)(-1)

     2(-9)

x = -6 ± √0
         -18


x = -6 ± 0
        -18

x = -6  or 1    

     -18     3           


-8q^2-2q+1=0 

x = -b ± √b2 – 4ac

    2a

a = -8, b = -2, c = 1

x = -(-2) ± √(-2)2 – 4(-8)(1)

     2(-8)

x = 2 ± √36
         -16


x = 2 ± 6
       -16

x = 8  or -1    and   -4 or 1  
    -16      2            -16    4

v^2+8v+6=0 

x = -b ± √b2 – 4ac

    2a

a = 1, b = 8, c = 6

x = -8 ± √82 – 4(1)(6)

     2(1)

x = -8 ± √40
            2


x = -8 ± 6.32
            2

x = -0.84 or -7.16


p^2+6p+4=0 
x = -b ± √b2 – 4ac

    2a

a = 1, b = 6, c = 4

x = -6 ± √62 – 4(1)(4)

     2(1)

x = -6 ± √20
           2

x = -6 ± 4.47
            2
x = -0.765 or -5.235

Find b^2-4ac and the number of real solutions to each equation 

4m^2+25=20m 
4m^2 – 20m +25 = 0

x = -b ± √b2 – 4ac

    2a

a = 4, b = -20, c = 25

x = -(-20) ± √(-20)2 – 4(4)(25)

     2(4)

x = 20 ± √0
           8

x = 20
       8
x = 2.5

X^2+6x+9=0 
x = -b ± √b2 – 4ac

    2a

a = 1, b = 6, c = 9

x = -6 ± √62 – 4(1)(9)

     2(1)

x = -6 ± √0
           2


x = -6
       2

x = -3


-3t^2+5t+6=0 

x = -b ± √b2 – 4ac

    2a

a = -3, b = 5, c = 6

x = -5 ± √52 – 4(-3)(6)

     2(-3)

x = -5 ± √97
           -6


x = -5 ± 9.85
           -6

x = -0.8083 or 2.475


x^2=x 
x^2 – x = 0

x = -b ± √b2 – 4ac

    2a

a = 1, b = -1, c = 0

x = -(-1) ± √(-1)2 – 4(1)(0)

     2(1)

x = 1 ± √1
          2


x = 1 ± 1
         2

x = 1 or 0


12-7x+x^2=0 

x = -b ± √b2 – 4ac

    2a

a = 1, b = -7, c = 12

x = -(-7) ± √(-7)2 – 4(1)(12)

     2(1)

x = 7 ± √1
          2


x = 7 ± 1
         2

x = 4 or 3

3y^2+2y=0 
x = -b ± √b2 – 4ac

    2a

a = 3, b = 2, c = 0

x = -2 ± √22 – 4(3)(0)

   2(3)

x = -2 ± √4
          6


x = -2 ± 2
         6

x = 0 or -2

  3
